Catch-up 5

OWrite.E C scarf skirt jeans jacket _het™ glasses T-shirt shoes )

9 Look and answer. Then write two more questions.

(Yes, heis. No, heisn't. Yes, sheis. No, she isn’t.)

1 Is he wearing a scarf? Yen, he is. 5 Is he wearing a jacket?

2 Is she wearing trousers? 6 Is she wearing a hat?

3 Is he wearing shoes? 7 No, he isn't.
4 Is she wearing a T-shirt? 8 Yes, she is.

Q Read and number. Then write one more sentence.
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He's wearing trousers and a jacket. @ He's ta/{'/fkunqu, lo the teachen.
She isn't wearing a skirt. She's wearing trousers. O
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She isn't wearing trousers. She's wearing glasses. O

o

He's wearing a T-shirt. He isn't wearing glasses. O

e He isn't wearing a jacket. He's wearing glasses. O
f She's wearing a skirt and a T-shirt. She isn't wearing glasses. O

ﬁ:inished? Look at your friends. What are they weoring?w
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